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Production Possibilities
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= Production Possibilities Curve
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= Shows max number of goods that can be
produced with limited resources
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= Resources are fixed: (you caﬁ’:t-é_etTnor
Paper, scissors, labor, etc)

= All resources are being used fully

= Only 2 things can be produced

= Technology Is fixed: no Imprevements in
Iclency | -
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e — Links Smiles
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Round 1

Round 2
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= Each person needs 2 sheets of paper, SCISSors
and tape

= Prepare the paper: -
= Fold the two most distant ends together
old the new most distant ends together -
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ndothe lastifoldsand,fold cachioft
1dSTIn so that they touch: the center line
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- CﬁcTose one side of the “swingin-gj_Jo” a

Corrtnuad, ..
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fold It into t
= Unfold the

ne middle again.

papers and cut along the

creases. Also, cut the wider strips in half

width-wise.
1did.6 rectangles.

You should then have 16 strips




. Every persomaﬂanufacturer of Ilnks and.

~ Smiles.
= A link is a strip of paper wrapped into a circle and
taped In place. (like a Christmas chain) -

= Smiles are made by cutting squares into circles
and drawmg 2 eyes and a smile on each

one piece.of paper can b t-a‘tlmE*
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- Strips_éﬁa sguares can be altered forthe

= alternative use. Strips can be taped
together and cut in half to make sguares,
and therefore smiles. Squares can be taped. .
together and cut lengthwise te.make strips,
and therefore links.

£ h round: 4 strips, 4 quﬁEes, SCiSsors, .
= Cut only one layer of paper at a time.




= Each round is 70 seconds.
= Record your production in the chart for each

round.
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) Round 1. rTTakeﬂ"smiles and as many Ilnks

ﬁ

as you can
= Round 2: make only links
= Round 3: make only smiles
= Round 4: make one smile and as many. .

S as you can ‘-—é




Graior {Yolr Resulis

— Smﬂes on hUn’zn‘n'tal—ams
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= | inks on vertical axis

= Congratulations!! You've just created your
first production possibilities curve!!
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= Production Possibilities Curve

R e—

= Shows max number of goods that can be
produced with limited resources
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= Resources are fixed: (you caﬁ’:t-é_etTnor
Paper, scissors, labor, etc)

= All resources are being used fully

= Only 2 things can be produced

= Technology Is fixed: no Imprevements in
Iclency | -
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= Points along the PPC are efficient

e —
= Points underneath the PPC show

underutilization: producing fewer goods

than possible

= Points above PPC show impossible levels of
uction* = |




